(2)

(£) What are the reasons for spliting analysis
phase o lexical analysis and Synatax

analyszs 7

(k) Whal are the advantages ang disadvaniages

of intermediate language 7

() What is the purpose of symbol table ?

() Define backpatching.

L (&) With the help of a dizgram, briefly explain

the various phases of g compiler.

(&) Whudnyuuunduﬂaudbylliuﬂe—pm
cmﬂﬂ?[}hcussi!smiumdﬂmﬁu. 5

3 (a) HumeFAhegmemdﬁmmguh

¢wku?Explthl[lth:n=n.

(5) Explain the lefi-recursion and show how it
is climinated 7 Describe the algorithm used

for eliminating lefi-recursion

5

4. (o) What is an activation record ? Explain the
pmpmeurwhimnhlh:aﬂivﬁmmm. 5
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3] Eﬂuﬁdw the following context free
-grammar :

E—hEﬂ
E3E+ TET|T
T—+TeF|T/F|F

F—{E)| digit
N

i
(&) Obtain LR{d) items for the grammar
A—=>(A)|a 5
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(4)

6. (@) Construct a DAG for the expression
atae(b-cy*(b-c)rd
Show the steps clearly. 5
(h) Briefly explain main issues in code generation. 5
7. (&) Discuss briefly about the peephole
oplimization, s
(5) Write about data flow analysis of structural
Progriims. 5

8. (a) Discuss about function preserving
transformation. 5

Ln

(b} Write u note on NEXT-USE information.
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Answer Q. No. | and any five from the rest

The figures in the right-hand margin indicate marks

Answer all questions -

(a) Define patterns, tokens and lexemes.

(#) Define derivations, give examples.

{¢) What is handle pruning ?

(dy Mention two rules for type checking,

() Define basic blocks and flow graphs.
() Give the parse tree for the statement
a:=b—-c—d»
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